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Abstract about this document

This document describes about trouble shooting of tree survey.

Revision history

Date Version Revision Firmware version
Aug 21,2012 | Ver. 1.0 Initial Release All versions
Add page 3
July 3,2017 | Ver. 1.0 AAdd ddppai,geef? All versions
Modify page 16
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The difference between Web user interface and CS Maintenance Tool

Function

Web user interface

CS Maintenance Tool

Multi language support

When Login by ADMIN authority :

US English only

When Login by ADMIN authority :
US English (Default)

When login by USER authority*1 :
8 languages

+ additional languages available (XML)
*Additional language xml files may be found at

*1: for limited screens

the Panasonic’s website.

*Color display only immediately
after Tree survey

No information of neighboring CS

CS registration Yes No

Tree survey Maximum number of CS 9 32
Layer of tree 8 layers 8 layers
Result display Available Available
Tree image display By text By illustration

Neighboring CS information by color

operation

Monitor status (RSSI/Error rate/
LAN connection) in color

Reflect results to each CS Yes Yes
Manual tree structuring Yes Yes
CS status display |Result list Yes Yes
while in actual Tree image display By text By illustration

Monitor status (RSSI/Error rate/LAN
connection) in color

Logging function

Error detection log

Yes

Yes

Communication interrupt log

No

Yes

© Panasonic Corporation 2017




Notices

* We strongly recommend conducting the Site Survey
before conducting Tree Survey.

* You can use CS monitor function for checking LAN
connection.
=) See page 5

* You must click "Cancel” button to restart Tree Survey

when you fail Tree Survey. (SIP-CSs reboot automatically)
=) See page 17
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The condition to be able to start tree survey

You can check the LAN connection and air sync with using CS monitor function.

| When all status shows OK, you can start
| tree survey.

oooo

onitor Stop

It does not matter that RSSI and Error Rate
are not shown to start tree survey.

Air Sync Group

Eror ., Current Sync CS
Tk RSSI o Wired CS Na Status
[dBm] LAN MACAddress cs Ccs CS8 Index
el Type  RPT

DEU,SO FOE9737 NS -

(0BOFOESTA2 \ng  primay o8 1

20,80 FOE9736 NS -

DEU,B[J FOE9738 INS -

90,80 FOE9736 NS -

QDB0FOESTE NS Primary G5 1

20,80 FOE973.8 INS -

QOBOFOESTAS ns  primay o5 1

30,80 FOE9737 INS -

EU.BU.FU E9.73.7 INS -

DCU,B[J FOE9737 NS -

gU.BU.FU E9.74.D INS -

DCU,B[J FOEF D8O INS -

gU.BU.FU E9.76.1 INS -

gU,B[J FOE9.737 INS -

At this stage (Before completing Tree Survey),
only status of “Wired LAN" makes sense.

Don’t care status of RSSI/Error rate before completing Tree Survey,
because Primary CS is not decided completely at this stage.
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It might to wait several minutes before executing tree survey

There is a case, it takes several minutes before executing tree survey after pushing
[Start] button.

Tree Survey Wizard ) . N ( = )
B |2 Tree Survey Wizard ] falf Tree Survey Wizard )
“Tree Survey” by che “Select” column
Sur
#Glick " Dancel” button to restart Tres Survey when Tree Survey failed
Select E Tree Survey Executing Tree Survey Executing
Index CS Name S Qass Connection AL csip I
7 I
i [EW Syne Master CS1 ~ NS d 01573 6 e et O i 40 T s e el e "B’ Bafiam
2 cs@ Sync SlaveCS - NS = | 01873
8 cs@ SoSaveCS  + s o 01873 I
4 cs() Bl - NS 2 | o873 | | I
Il 5 cs@ SyoSaveCs  + - o 01873
6 cs(6) Bl - = = | o873 I I I
Il [7 csm Sy SaveCS  + - 9 01873
8 cs(8) B = Z |87z I i Il il
l a [l 1} Cune = 7] na7 7 .
. I
| Il
e [[Cheld ] [[Cleselo] | I
5] Clase(C) ! I

[Start] Show this dialogue several minutes.

It depends on the depth of the tree, because Air sync procedure is done step by step.
It might take from 1 to 3 minutes to synchronize one tree.
And this time depends on the strength between CSs to be synchronize.

@ Cs1
On the example of right figure, Air sync /
should be taken 3 times. So, the sum of Ja 2 |
Air sync time is about 9 minutes as
maximum. SeRl / N\,

e,
Step 2 / / \\ Step 3
L 9 & o
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Tree Survey -By CS Maintenance Tool-

CS Maintenance Tool

If there are some errors,
Error Messages will be displayed as shown below.

exam ple Eﬂ Tree Survey Wizard
HSIP—GS Maintenance Tool Finish
Pleage click “Finish” button.
a0z0
@ EXECUTION RESULT:
ISeparated Treels) exist. I Egggml 5 daes not heve Primary G5
S CEEY CS O r Iotice: OES NOT Nave oecondar |
Please check settings.

[ Finish (F) ] [ CloseiC) ]

Consult the Error Message Table in next few pages,
and try what is described in solution column .

You must resolve all errors for completing a tree survey.
Note:

At CS Maintenance Tool,

Master CS is called “Sync Master CS1”,

2nd Master CS is called “Sync Master CS2”
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Tree Survey -By CS Maintenance Tool- Error Message Table

Screen Phase Error/ Code Message Explanation Solution
Notice

The causes are followings. ,
Connection error Please c_:onflrm the network
- CS is powered off connecting Super Master and
Error | 9004 . P ) PC.
Please confirm the network - Network trouble between PC
c : Check IP address of Super
= connecting the CS(s) and PC and CS
o . . Master.
3 - IP address is invalid
Login error
L Check User name and
Error | 9005 Check User name and Login failed. Password.
Password.
Sync Master CS1 is not
+ selected. Sync Master CS1 is not ,
] Error | 9007 selected when starting Tree cs:ogilrhr;azt(;?%:glb;)sxsvgre?tz %r
n Check whether Sync Master  |Survey. y '
CS1 is selected.
Connection error The causes are followings. Please confirm the network
' . connecting Super Master and
3 - CS is powered off.
c Error 9006 . PC.
S, Please confirm the network |- Network trouble between PC Check IP address of Super
n connecting the CS(s) and PC | and CS P
o o .. . Master.
z < - IP address is invalid
>
3 o .
(4] Monltorlng error because air The CS can not synchronize
x synchronization has not been | . )
L . with other CS by following
established.
Error | 9009 cause. Move the CS(s) closer to
Please move the CS(s) closer . adjacency CS.
. ) .._|- CS could not find an
to Primary CS according to site|_ .
: adjacency CS.
planning.
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Tree Survey -By CS Maintenance Tool- Error Message Table

Screen Phase Error/ Code Message Explanation Solution
Notice
o . The CS can not synchronize
Monitoring error because air with other CS by followin
g synchronization has not been cause y g Move away each CS with
= established. ' proper distance.
8 _8 Error | 9009 - There are too many CSs
g Please move the CS(s) closer around the CS y Remove interference around
S to Primary CS according to site : the CS(s).
lanning - Interference occurs around
P ' the CS.
Notice: h
St(e)clg(nedgrs cCIoSes ave One or more SIP-CSs could
Yy not have a Slave CS assigned This i bl
Error - for reasons such as avoiding 'S IS not & problem.
g Please move the CS(s) closer the creation of a 0o See page 16 for detail.
3 to Secondary CS according to o P.
wn - site planning in this case. However, this is not a problem.
<3
o ERROR!!! CS does not have Please check whether a radio
5 Primary CS. signal obstacle, such as a
> Error i A SIP-CS has radio signal metal shelf, a door etc.., exist
55) Please move the CS(s) closer (trouble. near the SIP-CS.
Py to Primary CS(s) according to And conduct Tree Survey
v site planning. again, after clicking [Cancel].
|_
A SIP-CS has radio signal
trouble. Interference may occur. Please
- "
Error Erroriii Parameter Error. - Error rate is high check wireless environment.
- Invalid data is received.
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Tree Survey -By CS Maintenance Tool- Error Message Table

Screen Phase Error/ Code Message Explanation Solution
Notice
I '
Error _ |ERROR!!' Unknown error Tree Survey failed for some Conduct the Tree Survey again
- code. reason.
=]
%)
i
. . Please refer to Tree Structure
> .
2 Error _ |Result contains more than 9 |Level is over 9. So user can and relocate CS(s) for reducing
> levels. not apply.
5 the level.
0p)
8 Accidental situation might have
= . Some isolated trees has been occurred, like a door was
Error | 9020 [Separated Tree(s) exist. closed near some CSs.
O created by Tree Survey. )
c Please check location and
u>)‘ environment of CSs.
< Notice | 9033 Sync Master CS2 does not Sync Master CS2 is not set. Set Sync Master CS2 manually
exist. if needed.
Notice CS does not have Secondary (1&0Stiecce(;ndary CS s not set. 1) This is not a problem.
CsS. See page 16 for detalil.
/ 9022 2) CS number set as
> . .. [2) Set correct CS number of
Q. Error Please check settings Secondary CS does not exist in Secondary CS
<CEL ' the group. (Error) '
CS does not have Primary CS. 1) Primary CS is not setin 1) Set Primary CS.
Notice - GUl. : 2) Set correct CS number of
. 2) CS number set as Primary .
Please check settings. L Primary CS.
does not exist in the group.
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Tree Survey -By CS Maintenance Tool- Error Message Table

Screen Phase
Notice

Error/ Code Message

Explanation

Solution

Error

9120

Primary index is same as
Secondary index.

Please check settings.

Primary CS is equal to
Secondary CS.

Please check Settings.

Error

9121

Primary or Secondary index is
same as own index.

Please check settings.

Primary CS or Secondary CS
is equal to own CS.

Please check Settings.

Notice

9300

System is Reset.

Warning to apply or cancel.

Notice

Air Sync
Apply

9302

Sync Master CS2 already
exists.

When user selected CSs
before tree survey. Sync
Master CS2 already exist in CS
list except Tree Survey result.

Sync Master CS2 must be one
or less.

Please change the CS class
manually.

Notice

" Error M

It is not allowed to
automatically change "Sync
Master CS1".

Please swap current "Sync
Master CS1" for new one by
hand.

Current : "CS Name"
New : "CS Name"

Sync Master CS1 is manually
changed when apply button is
clicked.

(Sync Master CS1 can't
change by GUI.)

Please swap current "Sync
Master CS1" for new one by
hand if you want to change
Sync Master CS1.

© Panasonic Corporation 2017
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Tree Survey -By CS Maintenance Tool- Error Message Table

Screen Phase Error/ Code Message Explanation Solution
Notice
g § Some isolated trees has been |Accidental situation might have
8 T Error | 9020 |Separated Tree(s) exist. created when receiving monitorjoccurred, like a door was
N § date. closed near some CSs.
Error | 9027 |Failed (Invalid Path) folder not found. (Invalid path) |Check file path.
L5 Error | 9028 [Failed (Invalid File name) non-exist file Check file name
® ©
O o . . ,
= g Failed (Invalid Language file
% 8 Error | 9029 format) m;ahd or corrupted language Check language file format.
-+~ CU .
-% - Check language file format.
= )
Q
S . . .
- Failed to import language file
Error | 9030 [Failed (Import) due to cause other than the Check language file.
above.
- Failed (CS error: "error code") |Error is returned from CS after |Check CS hardware status by
o sending request of interface  |LED.
g Error | 9101 between CS Maintenance Tool
S and CS
@)
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12



CS WEB UI

If there are some errors,
Error Messages will be displayed as shown below.

Status Netwark System VolP Telephone Maintenance
Tree Survey @ SIP CS KX-UDS124 - Windows Internet Explorer =
Tree Survey Timeout Results
Please click 'OK' button
Air Sync Group 1 |l - pr
ERRORIN G5 does not have Primary GS. This "Tree " ted to all the CS in S List
! E Notice: G5 does not have Secondary G5 B I SINS DE RIS D e SO SE) e e
Motice: 2nd Master GS does not exist. Tree Survey i =2 BOt have decondary C3.
MNotice: Separated Trees of G5 exist. O r O r :if
This "Result Application” is executed to all the CS in Survey List. e
Result Application [ Apply ] [ Cancel ]
The CS reboots automatically if you press the button of "Apply” or "Cancel”.
Survey List
Index CS Name CS Class Status Primary  Secondary Level
WMAC Address CSindex CSIndex

1 0O0BOFOE97646 Master INS
2 0080FODTS5CC Slave 2 INS

3 0080FOE97376 Slave v INS

Consult the Error Message Table in next few pages,
and try what is described in solution column .

You must resolve all errors for completing a tree survey.

Please use IE as web browser.
Other browsers may not display error messages.
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Tree Survey -By WEB Ul- Error Message Table

Error/
Notice

Phase

Error

Message

CS Number Error

Explanation

1) There are no SIP-CSs (or only
one SIP-CS) in the Air Sync Group.
2) There are 10 or more SIP-CSs.

Solution

1) Before conducting the Tree
Survey, please register SIP-CSs.
2) When there are 10 or more SIP-
CSs, please use CS Maintenance
Tool for Tree Survey.

Error

Tree Survey Timeout.

1) Slave CS may have network
trouble.

2) Slave CS cannot receive radio
signal from another Air Sync Group
CS.

1) Please check the SIP-CS's
power/network condition.

2) Please check whether a radio
signal obstacle, such as a metal
shelf, a door, etc.., exists near the
SIP-CS.

Error

ERROR!!! CS does not have
Primary CS.

A SIP-CS has radio signal trouble.

Please check whether a radio signal
obstacle, such as a metal shelf, a
door, etc.., exists near the SIP-CS.

Start tree Survey

Error

ERROR!!I Parameter error

All monitoring data are not valid.

- Error rate is high
- Invalid data is received.

Interference may occur. Please
check wireless environment.

Error

ERROR!!! Unknown error code.

Tree Survey failed for some reason.

Conduct the Tree Survey again.

Notice

Notice: CS does not have
Secondary CS.

One or more SIP-CSs could not
have a Slave CS assigned for
reasons such as avoiding the
creation of a loop.

However, this is not a problem.

This is not a problem.
See page 16 for detail.
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Tree Survey -By WEB Ul- Error Message Table

Error/
Notice

Phase

Error

Message

ERROR!!I Master CS does not exist.

Explanation

Master CS does not exist.

Solution

Before conducting the Tree Survey,
please register SIP-CSs.

Error

ERROR!!! Primary index ==
Secondary index.

CS.

Primary CS is equal to Secondary

Please check settings.

Error

ERROR!!! Primary / Secondary
index == Own index.

Primary CS or Secondary CS is
equal to own CS.

Please check settings.

Error

ERROR!!l Two or more 2nd Master
CS exists.

Two or more 2nd Master CS exists.

2nd Master must be one or less.

Error

ERROR!!! CS does not have Primary|
CS.

1) Primary CS is not set in GUI.
2) CS number set as Primary CS
does not exist in the group.

1) Set Primary CS manually.
2) Set correct CS number of Primary
CS.

Error

ERROR!! CS does not have
Secondary CS.

CS number set as Secondary CS
does not exist in the group.

Set correct CS number of Secondary
CS.

Error

Apply / Tree Image

ERROR!!! CS Level Error.

CS level must be 8 or less.

Please set Primary index /
Secondary index to meet the
condition.

Rearrange the Master CS to the
center of entire coverage area.

Notice

Notice: Separated Tree of CS exist.

Some isolated trees has been
created by Tree Survey.

Accidental situation might have
occurred, like a door was closed
near some CSs.

Please check location and
environment of CSs.

Notice

Notice: 2nd Master CS does not
exist.

2nd Master CS is not set.

Set 2nd Master CS manually if
needed.

Notice

Notice: CS does not have Secondary

Secondary CS is not set.

CS.

This is not a problem.

See page. 16 for detail
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“Notice : CS does not have Secondary CS”

From the viewpoint of redundancy,
It is better that the CS has secondary CS.
However, in the case like the example 2,

It is acceptable that the CS does not have secondary CS.

Primary clock signal
------- » Secondary clock signal

So, “CS does not have Secondary CS.” is not a problem.

Example 1
Master
cs1
CS?2 CS3

index | CS class | Primary CS | Secondary CS

1 Master
2 Slave 1
3 Slave 1 2

In this case, CS3 can receive not only CS1’s clock signal
but also CS2’s clock signal.
It means that Slave CS have the secondary CS.

© Panasonic Corporation 2017

Example 2

Master

cs1 cs2 CS3

Lindex| CS class | Primary CS | Secondary CS

1 Master
2 Slave 1
3 Slave 2

In this case, CS3 can’t receive any clock signal except
CS2’s clock signal.
It means that CS3 have the secondary CS.
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“Sample of tree survey fail case”

Panasonic
SIP CS KX-UDS124CE

The area RSSI and Error

1] Tree Survey Wizard @ p < Web Logout
- - — ] Tree Survey Wizard == Rate are all em pty
1. Select G5(s) for “Tree Survey” by check baxes in “Select” column Web Port Close
2.Click "Start” button to start " Tree Survey” ~ Siop
(Service is stopped)
Gaution e —
*Click “Cancel” button 1o restart Tree Survey when Tree Survey failed. EOrrr Iy 1
= . Cunent Syne GS
I Select Tree Survey Executing I ool RSS! ot e G5 ame o e —
Index CS Name CS Class Connection 1AL cs D) il [Wow Sarver sotims | [98m) LAN MAG Address
= A — ™ Type, BT
1 1 00.80FOES.T41D - - - 5
|l I - = I Il | Time Agust setungs |
CS01) Syme Mader CS1 NS il 1 you want to stop the Tree Survey. please click “Close™ button [Comme K| 0080FOEQTITE -
2 Ccs(2) Sync Slave CS - INS \m:m [ A Sesings | 3 SKI) 00.8DFOESTA2 -
[comeenne |
B cs@) SmcSaveCs - NS 01873 I | e TN Skl cosoFoE@TIEE - - - -
4 CS(4) Sync Slave CS - INS \m:m ETE 2 RN (XL, 7 0 =
| 5 CS(5) Sync Slave CS - 01973 I | i EETTa ¢ 9K\ 0080 FOEST367 -
5) ync Siave - 7 O oK 0080FOESTIEA - - - -
[ 6 cst6) Symc SaveCS  ~ - o197 | | | g — o
7 cs[m) SmcSaveCs - = 01973 9 ORI 0080FOEST3%0 - - - -
8 Cs(8) SmcSaveCs - = |ote73 [ | 10 KM C080FOESTATD - - - -
| a ram Sune Slava S - - na7 7 | 1" DK 00.80FDEQTITF - 5 | 5
: : | 12 O 0080FOEQTIIC - - - -
| | I 13 9K 0080 FOESTADA - N =
14 K 00.80 FO.EF.DEOC - - - -
Start (3) Glose(G) I I 15 5K 00s0FDERTB IS -
16 JK | 00.80FOEQ.TITA - - - -

[Start] [Close]
When the CS monitor shows like this,
it means halfway status

When you just push [Close] button of
Executing window, tree survey status e ==

Air Sync Group No. E o @

remains activated in all CS.

Primary C5 Sesandary 05
. . Index C5 Name csip A CsGass Connecton
Tdexe 05 Name bdex 05 Name
YO u Can I d e ntlfy S u C h h alfway Statu S by cs( 0157310288 | O0BOFOES741D | Symc MaserCS1 - s
C 2  |&Ea | ois7a040E0 | ooeoroESTEE || sime Siavecs - s | 1 |
H H H H 3 cs) 0197310208 |O0BOFOES7421 | SymoSlaveCS = [ f
seeing CS monitor as upper right figure s —
" 5 ) 0197304160 | OOBOFOES738E | SymoSlaveCS = [ 2
3 [csi | ois7a040ze | ooeoFoEsTEer | simcSavecs - NS | 5 | I
7 csm 0197304040 | OOBOFOEST36A | SymoSlaveCS = [ 2 £
[ ¢ @ | Bis7a04i00 ) | BoEoroESTaE2 | e sevecs - ms | 3 |
5 cs) 0197304170 | O0BOFOES7390 | SymoSlaveCS < [ 4
[ w0 |csim | ois7s04008 | oosoroES7ED | e savecs - NS | 9 |
i csa) 01S73040E8 | OSOFOES7Z7F | SymoSlaveCs < s 10
[ cso | iS7a0AaE0 | GEGRGES R Simc Siavecs - - | 5 |
13 csqy) 0197310670 | 0BOFOES74D4 | Syne SiaveTs  ~ s 1
[ csaw | SiS7E04a50 | SGaGROErDBIe | Simc Savecs - NS | 10 |
I n 0 rd e r to g O b aC k to n O r m al i cs(is) ODISESB7O0 | ODBOFOES719 | SynoSaveCs - M5 1
) | SiS7a04aca | GGaGROES /R IAN Simc Siavecs - s | 15 | I
status, you have to reboot all the s s R ———
. [ [ \ \ \ \ [ \
CS by pushing [Cancel] button. — s E———
. \‘ v

_[Cancel]
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